6C7c - Divide numbers up to 4 digits by a two digit number using the formal written method of short division where
appropriate, interpreting remainders according to the context

1 413 2 2 1 2|3 852

Work out the answer. Work out the answer.

80g of clay is needed to make a miniature animal model.

1 2 1 7 2 1 How many complete models can be made from a 860g
packet of clay?

What is the remainder?

Abbey has 3000 beads. 65 beads are needed to make a
A bottle of orange squash can make 40 drinks. necklace.

How many bottles are needed to make 2050 drinks? Abbey completes as many necklaces as possible.

How many beads are left over?




